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1202] FZxUE p=ganly] 8,406,000
1203| FOFrLE fo S EFHT 336,000
1204 FoaRLE MDOBLEH 659,000
1205 FOERIUIE JLEE LT 157,000
1206] FZRUIE = Fr T 348,000
1207 FFRLIE = BT 1,086,000
1208| FFRUIE I )1 BT 452,000
1209] FZx LIS £ HJIHT 3,498,000
1210] FFUE 3 RHT 672,000
1211] FZ LS H=HT 840,000
1212] FOFRLE =1=L) 195,000
1213 FFRUIE Eq F T 840,000
1214] FFUE ATEAHT 2,448,000
1215 FZxUIE H=JIIET 672,000
1216] FFLE =R 1,718,000
1217] FZn LS = HHAT 1,539,000
1218 FOaRILE 9 SAHHT 63,000
1219] FZxUIE AR £5 B35 SR HT 783,000
1220| FEx L& I 3t BT 54,000
1221 FFRIIE o FE ) [ T 138,000
1222] FFpLE & A HT 916,000
1223] EHWE Emh 22,073,000
1224] ERE KXFth 34,649,000
1225 EWE 2&mh 4,304,000
1226) ERE EE™H 2,668,000
1227] EEWE =X 448,000
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1228] ERE = P HT 147,000
1229] EHWE Al 222,000
1230) ERE J\GEHT 840,000
1231 EHWE — BHHT 56,000
1232) ERE i 5 R AT 1,035,000
1233] EHE =T 797,000
1234] EWE Jt R ET 924,000
1235 EHWE maEM 558,000
1236) ERE pNIIL] 768,000
1237 EEWE A BN ET 736,000
1238) EHWE HEHT 498,000
1239 EHWE H E7HT 27,000
1240) ERE SLFTET 27,000
1241] BEiRE T 33,144,000
1242 ERE JEETH 4,647,000
1243] EiRE HESF 27,175,000
1244] ERE #HEH 4,794,000
1245 EiRE XA 1,758,000
1246 EiRE =Eh 2,879,000
1247] EiRE JLET™ 1,623,000
1248 ERE EZmh 2,100,000
1249 ERE ERE) 461,000
1250 ERE JIIAHET 54,000
1251] EiRE E ] 84,000
1252 ERE =N 306,000
1253 EiRE SEFNEET 138,000
1254 ERE = e 210,000
1255| EiRE s HT 111,000
1256 EiRE 7a/ SHT 84,000
1257] EiRE BN 54,000
1258 ERE EAoY=T ] 2,238,000
1259] [EILE [l LU 210,050,000
1260  mEILE B 125,193,000
1261] RILIE T 12,133,000
1262 [ ILIE EEh 5,040,000
1263  REILE & 3,444,000
1264 mMLUE HIEH 2,799,000
1265 [ILE e n ] 9,882,000
1266 mEILE =2t 1,530,000
1267] ELE T 1,329,000
1268  FHILIE {E g 1,863,000
1269] REILIE HPEANTH 2,238,000
1270 MWE F=EH 5,109,000
1271 BELE ERET 2,826,000
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1273 AN 2,463,000
1274 IS HT 756,000
1275 B EH 2,799,000
1276 B EHT 1,492,000
1277 KT 699,000
1278 i Eadull 342,000
1279 H55 L T 632,000
1280 ok 1] 153,000
1281 FAEEH 73,000
1282 A KT 363,000
1283 T M 588,000
1284] RILE = i o R AT 810,000
1285] JREE LET 416,753,000
1286] [REE Bf 31,954,000
1287 LEE GG 2,742,000
1288)| KSR =R 14,055,000
1289 EBE EET 21,959,000
1290 [REE f2lLth 84,558,000
1291 EBEE FFchth 2,658,000
1292 [REE =Rth 3,935,000
1293 LEE EREH 2,060,000
1294| LEER Xt 4,758,000
1295 LEE HILET 62,523,000
1296 [LEE tHHETH 21,067,000
1297] LBE T==HT 1,364,000
1208 LEE SIHETT 732,000
1299 LE&E JF e T 14,580,000
1300 LR 5 FH T 4,997,000
1301] LEE AE ¥THT 2,286,000
1302 LEE 1 HT 1,488,000
1303 LEE T AHBT 153,000
1304 LEE b5 SHT 1,344,000
1305 LEE NG EHT 827,000
1306] [REE 1H 22 |7 824,000
1307] LBE A = R T 363,000
1308 [REE TRt 37,526,000
1309 LEE FIH 33,207,000
1310 (O E M=k 41,913,000
1311 WO Fh 3,276,000
1312 AR balicdis] 14,232,000
1313 A E T 18,198,000
1314 ILOE =EH 18,423,000
1315] O E Jeh 9,677,000
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1317] AR HFhH 4,192,000
1318 AR EMTh 840,000
1319] WO E FEmm 33,873,000
1320 WAog W i5/NEFEH T 5,178,000
1321] AE BB K EHT 252,000
1322 WAoR FIAHT 951,000
1323 LWOE - B HT 279,000
1324 O HH # fts HT 1,119,000
1325 OB S AT 1,104,000
1326 #BEE mEh 69,086,000
1327] #EE EF9th 7,603,000
1328) #EE INAETH 3,735,000
1329 #EE Brl EE 11,162,000
1330] #EE =Sl 2,754,000
1331] #EE Bl 2,379,000
1332 #BEE E=EmH 1,770,000
1333] #EE =1¥1h 1,119,000
1334] #EE R i T 168,000
1335| fEEE b 5 ET 27,000
1336) EEE 1% AR:A] R A 138,000
1337] #EE A FHHET 2,906,000
1338) #EEE 4 LI BT 138,000
1339] #EE AR & HT 21,000
1340] #EE £ (5 BT 27,000
1341] #EE = KHT 336,000
1342 #BEE i[5 HT 378,000
1343] #EE AR ET 2,169,000
1344] #BEE Jt SHET 4,326,000
1345| fEEE EE{FHT 4,899,000
1346 #EBEE i E7 BT 1,230,000
1347] #EE |t ET 536,000
1348) @EEE DAHEH 279,000
1349 #EE R ALLET 1,316,000
1350 &HIIE S 93,519,000
1351 FHIIE HL&ET 15,574,000
1352 &HIIE R 7,419,000
1353] FIJIIE EBFh 3,207,000
1354 &FIIE hedit] 6,698,000
1355  FJIIIE SHET 3,452,000
1356] &FIIE E YA oNii] 1,932,000
1357] FIIE =8 4,486,000
1358 FEIJIE + EHT 1,089,000
1359 FEIJIIE INF BT 664,000
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1360 FIIE = KHT 3,341,000
1361 FIJIE H SHT 586,000
1362 &FIIE F R 5,094,000
1363 FIJIE #= )1 HT 1,764,000
1364 FIIE ZLHT 1,398,000
1365 FIJIE %IRRT 1,749,000
1366 &FIIE FADSHT 1,451,000
1367] ZiglE NG 116,666,000
1368] ZixlE e R=Ait] 21,141,000
1369] ZiglE FHET 7,232,000
1370 ZRE J\IEETh 4,383,000
1371] ZRE HEEM 29,863,000
1372 ZiglE FEE™ 13,253,000
1373] ZiglE Fom 3,640,000
1374 ZiglE F¥tHh 3,639,000
1375 ZER PO [E ch R 10,896,000
1376] ZRE il 1,314,000
1377] =R -t 6,579,000
1378| ZRIE + ST 227,000
1379] ZiglE AB SRR 84,000
1380] ZiglR FARI T 3,522,000
1381] ZiglE FE ZR BT 1,323,000
1382 ZiglR N FHT 894,000
1383] ZERIE {FEHT 222,000
1384| ZiglR ¥ EF HT 27,000
1385 ZiglE Bl 676,000
1386) ZERIE =iy 819,000
1387 =%E = & 58,881,000
1388 =ZE EX=kiil 588,000
1389 =HE T=Th 655,000
1390 SxE mETH 4,830,000
1391 S%E TiETh 1,833,000
1392 =x01E Bl5TH 1,511,000
1393 =%E BET 1,947,000
1394] SxE TiEE KT 393,000
1395 S%E mAE+h 1,700,000
1396 SxE Ermth 3,024,000
1397] SHIE EFEH 2,176,000
1398 SExE BEHT 90,000
1399 E%E Z= 3 FIET 190,000
1400 SxE EE5d) 168,000
1401 S%E = HHT 27,000
1402 SxE B RAt 27,000
1403 =%E =t 195,000
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1404] SxE ALl 111,000
1405 S%E xE 84,000
1406 SxE T {EHT 88,000
1407 S%E LN HT 348,000
1408 SxNE 1= I BT 347,000
1409 S%E th + {EHT 420,000
1410 SxE 1% )| BT 558,000
1411 S5E % &0 Ay 395,000
1412 SxE Ha%t 111,000
1413] S%E R EPHT 163,000
1414] SxE a5 1By 1,035,000
1415 S%E X HHT 138,000
1416 SxE =gt 54,000
1417] S%E ERL 420,000
1418| taRkEE b A 221,666,000
1419] taREE f& e h 749,685,000
1420| taREE RKERET 10,896,000
1421] taREE A KT 80,452,000
1422] takEE BAT 5,109,000
1423| ta[EE fRIFTH 16,518,000
1424] t2REE GG 3,087,000
1425| &g G 8,118,000
1426] takEE J\Z&th 6,438,000
1427] taREE RET™ 5,128,000
1428| taREE X th 3,240,000
1429| ta[EE TE™ 8,462,000
1430| taREE BHih 1,302,000
1431] taREE bR 3,218,000
1432] taRkEE INER TR 10,026,000
1433| taf#E g AT 25,090,000
1434] taREE EZHm™ 28,719,000
1435| taf#E g RErEh 28,124,000
1436] takE & o il 19,809,000
1437] taREE AERT 19,416,000
1438| talEE Eh 5,682,000
1439| ta[EE =R il 16,846,000
1440| taREE SEEHh 1,575,000
1441] taREE =il 1,860,000
1442 taREE A 1,067,000
1443| taREE EAETh 4,981,000
1444 t2REE HXOETH 2,619,000
1445| ta[EE RETTH 19,509,000
1446] taREE AR 9,071,000
1447 12ME FHT 3,319,000
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1448| taREE EEL) 5,124,000
1449| ta[EE SR ET 9,798,000
1450| f2RHE ZE FEHT 3,639,000
1451] taREE 1= BT 19,794,000
1452] taREE A LLIET 2,070,000
1453| &g A= ET 10,773,000
1454] taREE = HT 1,035,000
1455| tafE g JKEHT 3,455,000
1456] a2k E [if] 15 HT 4,731,000
1457] taREE 1= g 0y 2,109,000
1458| taREE /NTET 84,000
1459| &g $RFHT 1,226,000
1460| ta[EE K| T 924,000
1461] ta[EE SR AT AT 2,318,000
1462] takEE RIEFT 111,000
1463| taf#E g K 71T 816,000
1464 taREE R AHT 1,921,000
1465| taf#EE INILS 2,295,000
1466] &= & EH & 735,000
1467| tafEE 7 HHET 306,000
1468| taEE S HHET 531,000
1469| taf#EE J 11 W5 T 264,000
1470 taREE KAEHT 494,000
1471] taREE sl 27,000
1472 taREE =) 1,230,000
1473| taREE ij FH FT 5,552,000
1474] t2REE FH10 ZHT 1,146,000
1475 12ME B 306,000
1476] takEE L E/T 558,000
1477] taREE El ] 1,119,000
1478 {kEER 1EEH 53,674,000
1479] {£EER EEmh 12,496,000
1480 {AEER Effth 16,422,000
1481] {£ER ZATH 620,000
1482] {kEER FEEmH 3,780,000
1483 (A& EH BT 4,905,000
1484] {kEER EEth 2,076,000
1485 {EEIR N TR 3,360,000
1486) {AER =5 3,049,000
1487] {£EER 5T 2,100,000
1488) {kEER = By BT 1,222,000
1489 (A& EH X LT 1,667,000
1490 {AEER I HT 613,000
1491] {£EER AR =HT 1,902,000
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1492] {kEER 3 EHET 138,000
1493 {£EE A HHT 1,384,000
1494] {kEER X HT BT 195,000
1495 {£EE ;TALHT 699,000
1496| (A5 R =E=1:) 1,398,000
1497] (ABE ABEHT 680,000
1498 RIFE RiGH 94,431,000
1499 RIFE EHET 24,709,000
1500 RiFE ERT 3,918,000
1501] EIBE HETH 22.308,000
1502 EIFE K+tth 13,647,000
1503] EIBE EETH 1,594,000
1504 RIGE L] 1,866,000
1505 RIBE X ET 1,812,000
1506] EIFE =gk th 1,482,000
1507] EIFE FETH 2,328,000
1508] EIFE FaaEh 904,000
1509 RIFE Z{lth 3,108,000
1510 EIFE R SR T 2,799,000
1511] EIBE R 5H 13,206,000
1512 RIKGE e T 4,528,000
1513 RIFE B R A HT 642,000
1514 RIGE L) 769,000
1515 RIFE JRE RET 815,000
1516] RIFE 1 < HT 1,593,000
1517] EIBE #F.EREH 961,000
1518 EERE NG 206,823,000
1519] HEARE I\ 10,385,000
1520  EEXRE AETH 3,625,000
1521 gARE mEM 3,695,000
1522 EEXRE KiZTH 1,031,000
1523 gEARE EX A1 6,530,000
1524  EEXRE G 3,918,000
1525] EBEXRE FHih 4,561,000
1526] EERE =+ 3,570,000
1527 BEARE +tXEMH 2,089,000
1528  EERE =i 4,704,000
1529 @EARE B 1,821,000
1530 EERE XEH 5,067,000
1531 BEXRE =il 17,631,000
1532 EEXRE e 496,000
1533 @A E T AT 222,000
1534 FEEARE 7 B T 195,000
1535] HEARIE K MHET 1,092,000
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1536 FEARE F0K BT 237,000
1537] HEARE RERT 7,442 000
1538 HEARE 4[5 BT 17,849,000
1539] HEARIE A /IM EHT 363,000
1540 FEARE /|NE BT 363,000
1541] HEAXRE ELLF 59,000
1542 FEARE = 70T 642,000
1543] HEARE Ei] D) 588,000
1544 FEEARE 7 or] &% A 909,000
1545| HEARIE 1 fi BT 1,212,000
1546 FEARE EEH 974,000
1547] HEAXRE % 3 HT 3,637,000
1548 FEARE EH {ZC T 559,000
1549 HEAXRE IE:) 447,000
1550 HEARE 5K JI| BT 978,000
1551] HEARIE =EIA:] 886,000
1552 HEARE FEZKHET 84,000
1553 HEARIE FRHET 348,000
1554 HEEARE % B KHT 479,000
1555| HEARIE & i HT 54,000
1556 HEARE 7K _E4F 84,000
1557 REARE HEH 336,000
1558 HEARE LT 4 27,000
1559 HEARIE HI=YH 521,000
1560 FEARE = L HT 274,000
1561 XKH B Kot 110,163,000
1562 K58 Al 14,661,000
1563] XKH B h;EmH 9,828,000
1564 K58 HHEH 5,366,000
1565 KH 1B E (=0 6,682,000
1566 KH R EI¥Fmh 2,709,000
1567] K& EART 1,234,000
1568 KH R "TET 1,711,000
1569 XKH & B =HT 1,324,000
1570 XKH 8 ¥rEETH 1,308,000
1571 Ko FiEH 5,355,000
1572 K»& SR XEH 1,800,000
1573] Ko =it 3,217,000
1574] KB EEXi] 1,224,000
1575 Ko H 2,262,000
1576 K5 R NLEHT 279,000
1577] Ko Ak HT 516,000
1578| =EIFE = W 80,795,000
1579] =iIFE #RI T 17,562,000
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1580 =HIFE SE ] 16,416,000
1581 E=IBE HeEh 2,607,000
1582 =IGE INFRTR 3,191,000
1583 =IFE H R Hh 6,887,000
1584 EIHE EY5hn 1,256,000
1585| =IFE FaER T 2,339,000
1586| =EIFE FANON 1,119,000
1587] =IFE = I%HET 1,938,000
1588 =GR = [ T 589,000
1589 =IFE E = HT 879,000
1590 =IFE TEHT 306,000
1591] =IFE = S AT 1,595,000
1592] =GR =My 1,075,000
1593 =IFE FEKBH 177,000
1594] =IBE A 35k T 558,000
1595| =IFE JIFA BT 1,413,000
1596 E=IHE Z=HT 642,000
1597] =IFE F5 1| BT 1,818,000
1598| =HIFE HEH 172,000
1599 =IFE E ] 112,000
1600 =IHE T%FF%;E\HT 686,000
1601] =IFE H2Z& 27,000
1602] =HIFE £/7,§EHT 116,000
1603| ERERE EREH 116,754,000
1604| EERERE BEM 8,684,000
1605 ERERE & T 1,932,000
1606) BEIREE fal AR TH 785,000
1607) ERERE H Kk 4,050,000
1608| EEREE eEmH 3,584,000
1609 BERERE fic il 1,266,000
1610) EIREE FEKH 957,000
1611 EREE | EEJIIAS 11,180,000
1612| EREE HE&h 2,658,000
1613)| BERERE SR 1,958,000
1614] BIREE 1=l 22,789,000
1615| BIREE |WaEEXHFH 1,907,000
1616)| BEIREE Ec2DFEmh 1,689,000
1617) BRER Pt 2,521,000
1618 BIREE =TEH 2,784,000
1619 ERERE m LT 1,602,000
1620) EIREE {RETH 1,170,000
1621 BERER WE™ 7,539,000
1622 EIRER +E% 27,000
1623] ERER SDFEHT 1,923,000
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1624] EEEE EEm R{TRTEEE
1625] BEREE SR 894,000
1626 ERER | AIHT 220,000
1627 EREE i%nﬁﬂﬂ 1,203,000
1628]| ERER e T HT 478,000
1629 EIREE ﬁj&lﬁﬂﬂ 311,000
1630] EEIREE T 394,000
1631 EREE hiE AT 354,000
1632] BEGE | mlyhr e
1633 EEBE | EABH 909,000
1634 BREEE | HF A S
1635 BREE | ER0AT 2R
1636] EREE T 111,000
1638 BEEE | K 313000
1639 EIRgE AT 185,000
1640| EElR SR FE T 36,000
1641 EIRgE %l]l%EEIT 279,000
1642] EREE E &[T 237,000
1643 HIBE = 420,000
1644 HiEE Lo 78,805,000
1645| hiEE _EiéF-T 17,682,000
1646| hiBIE :ﬁ:?‘F"T 4,197,000
1647 FEE ’% é’iE“F__J 21,962,000
1648 hiBIE %?%F‘T 4,687,000
1649 miBlE :q;;f%ﬁ 4,836,000
1650 HiEE e 16,399,000
1651] HFEE 55_%)-$FFJ 11,541,000
1652 hiBIE =t E 8,809,000
1653 g E S 4,620,000
1654 iR g2 4,874,000
1655| ;higE j(ET’IBEJH' 84,000
1656 hi3IE =T 27,000
1657] i@ PV 138,000
1658 ;h#EIE Kﬁl.s_ﬂﬁ 200,000
1650 shigmi= e 894,000
1660 iE R s 1,560,000
1661 S E T 195,000
1662] hi@s BIH 674,000
1663 hEE N 138,000
1664 hiEE B 4,506,000
1665] iBlE T AR 1,758,000
1666 i e T 6,018,000
1667 e e 3,245,000
8,247,000
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1668 Bl 7 [ [T 5,067,000
1669 HiElR S AR T 2,961,000
1670] HfEIR A JEL JiR T 5,479,000
1671] HfElE i =Bt 84,000
1672 HiElR A A B A 69,000
1673 p#all FEEHM 27,000
1674 HiElE 2K EHT 1,028,000
1675 HiElR J\ 55 SR T 3,549,000
1676 HfEIR = HT 672,000
1677 HiElR 5 AR = #T 168,000

nqll =

41,045,669,000
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